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1 kuno6ant (K6aut) = 2" 6ainr =
1024 6auta = 1024*8 = 8192 buTa
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1 merabant (M6aint) = 2'° K6ant = 1024
K6ant = 2%° 6aint =1048576 6anT =
8388608 ouT
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1 rurabaunt (F6anTt) = 2'° M6anT =
1024 M6aunT = 22° Koant = 1048576
KoauTt = 2°°6ant=1073741824 6anTt=
8589934592 ouT
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1 TepabanT (T6aunT) =2'° F6anT = 1024
[6anT= 2%° M6ainT =1048576
M6anT=23°K6ant =1073741824 K6aunt =
2%0 ganT = 1099511627776 6anT =
8796093022208 omT
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A panblue nocyuTanTe camu ¢ noMmolwbio Kanbkynatopa

1 netabanT (M6anT) = 2'° T6anT = 1024 T6anT
1 akcabauT (d6anT) = 2'° NGanT = 1024 N6aNT
1 settabaunt (36ant) = 2'° 36anT = 1024 d6anT
1 nottabant (M6anT) = 2'° 36ainT = 1024 36anT



1 6auTt = 8 ouT

1 kuno6ant (K6ant) = 2'° 6aint = 1024 6ainT

1 merabant (M6anT) = 2'° K6ant = 1024 K6anT
1 rurabanT (F6ant) = 2'° M6anT = 1024 M6anT
1 Tepabant (T6anT) =2'° M6anT = 1024 reant

1 netabanT (M6anT) = 2'° T6anT = 1024 T6anT
1 akcabauT (96anT) = 2'° NGanT = 1024 N6anT
1 settabaunt (36ant) = 2'° 36anT = 1024 d6anT
1 nottabant (M6anT) = 2'° 36anT = 1024 36anT



